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NOTE: /. Answer All Questions from the, following.
2. Use of IS 456-2000 permitted.
3. Missing Data if any, may be assumed suitably

6.5 m x 5m. The slab is cast monolithically over the

g is 250 mm. The slab caries superimposed load of 3

|. Sketch the details of steel.

1. Design a RC slab for a hall measuring
beams with corners held down. The bearin
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NOTE: 1. Answer All Questions from the following.
2. Use of IS 456-2000 permitted.
3. Missing Data if any. may be assumed suitably

1. Design 4 RC slab for a hall measuring 6.5 m x 5 m. The slab is cast monolithically over the
beam§ with corners held down. The bearing is 250 mm. The slab caries superimposed load of 3
kN/mZ. Use M20 concrete and Fe 415 steel. Sketch the details of steel.
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